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FWA G BB AR LARB - FH Ry (R e (O
B)o Blzk 5 10 #-1-10K-2~20 F-1 2 20 k-2 S w plebz 2 ~ @ K 3

DL RIEERIEISE Lo MEA R ERB SRS 5 B AHRIIE T i
L AEA R IR A MR 2L A AR SRR a2 0 LRl

AECRPPNIL E 2 24 piefas ZRER SKE-pHE 35 £ -
¥

10 # -1 10 # -2 20 # -1 20 # -2 x
P MDL | ¥ i i
AR R AR RR R R R R RE AR R
ki — | ¢ | 214 | 196 | 168 | 21.8 | 206 | 192 | 223 | 19.2 | 17.2 | 21.9 | 20.4 | 19.0
pH & ~ | - | 83| 83|83 |83 |83 |83 |83 83|83 83| 83| 83 |7.5-85
#5% | — |mgL| 59 | 58 | 55| 62 | 61|59 | 56|54 |53]| 63| 61| 60|50
4258 10 |mgl| <10 | <10 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <1.0 | <3.0
“#752| 15 |mgL| 16 | 1.7 | 15 | ND. | 1.8 [ND.|ND.| 1.7 | 16 | 1.7 | 1.8 | 1.7 | —
BiEEM | 10 |mol| 26 | 48 | 44 | 37 | 42 | 42 | 36 | 84 | 39 | 30 | 52 | 43 | —
5% 001 | mgL | 0.05 | 0.10 | 0.15 | 0.02 | 0.03 | 0.04 | 0.05 | 0.05 | 0.03 | 0.06 | 0.05 | 0.03 | —
FEAF | 001 | mgL | 0.03 | 0.03 | 0.03 | 0.04 | 0.03 | 0.03 | 0.03 | 0.03 | 0.02 | 0.07 | 0.06 | 0.06 | —
FE® | 007 |mgL| 013 | 015 | 0.14 | 0.20 | 0.14 | 0.12 | 0.12 | 0.11 | 0.10 | 031 | 0.27 | 027 | —
LAl E®E | 0002 | mgL | N.D. | N.D. | 0.01 | 001 | 001 | 0.01 | 0.01 | 0.01 | 0.01 | N.D. | 0.08 | 0.01 | —
Zape® | 0005 | myL | ND. | N.D. | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 003 | ND. | 027 | 003 | —
* ;i’ﬁ <0 [P 45 | 15 | 25 | <10 | <10 | <10 | 250 | 120 | 410 | 20 | 25 | 65 | —

FHEy iy 10 | mg/ | <1.0 | <1.0 | <1.0 | <1.0 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | 2.0

RN 1 009 | mg/L | 062 | 0.64 | 0.87 | 049 | 042 | 050 | 054 | 0.62 | 0.45 | 0.63 | 0.63 | 0.87 —

27 e 05 | mg/L | 0.7 0.6 0.7 0.7 0.6 0.6 0.6 0.7 0.5 0.6 0.7 0.6 —
P

ﬂ%\z&

= 414> 10.00004| mg/L | N.D. | N.D. | N.D. | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. | ND. | 0.1

- &% [0.00004| mg/L | N.D. | N.D. | N.D. | ND. | ND. | NND. | N.D. | N.D. | N.D. | ND. | ND. | ND. | 0.1

5 # (0.00003| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. [ ND. | ND. | N.D. | ND. | ND. | 01

= 34> [0.00005| mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | ND. | ND. | N.D. | ND. | ND. | ND. | 01

%% % (0.00003| mg/L | N.D. | N.D. | N.D. | ND. | N.D. | ND. | N.D. | ND. | N.D. | ND. | ND. | ND. | 01

4 274> |0.00250 | mg/L |<0.00250 |<0.00250 | <0.00250 | <0.00250 |<0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250 | <0.00250|<0.00250| 0.1

i — |cmis| 02 - - 0.3 - - 0.1 - - 0.2 - - -
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